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2) Basie Questions on MEC:
a) Exiftonce, Finrtenes;
5 (per) mutations
C) /?e/e vance
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2) Basie Questions on MEC:
C) ﬁe/e vance

C.i} ﬁm'nelfe, I(&yu- 3
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Theorem 1.2 (Schiitzenberger [62], Faddeev-Volkov [16], Faddeev-Kashaev [17]).
For two indeterminates y; and ys which q-commute in the sense that

Y1Y2 = qY291 ;
we have the equality
E(y1)E(y2) = E(y2)E(q™*y192)E(y1). (1.3)

As shown in [17], this equality implies the classical ‘pentagon identity’ for
Rogers’ dilogarithm.
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2) Basie Questions on MEC:
C) ﬁe/e vance
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2) Basie Questions on MEC:
a) Exifloce , Finitenes
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2) Basie Questions on MEC:
a) Exifloce , Finitenes

Theorew : [BHIT]
R wulatrou- equt vabat~ o a%uz ﬂyu keiw ?«,’Ve/-
Then 0 < #MHEL < o0




2) Basie Questions on MEC:
b)Y (per) muTat-ions
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2) Basie Questions on MEC:
b)Y (per) muTat-ions
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